
𝑡ଵ = 8

𝑟 =
4

8
⎯⎯

𝑟 =
1

2
⎯⎯

𝑟 =
2

4
⎯⎯

𝑟 =
1

2
⎯⎯

𝑠ஶ =
𝑡ଵ

1 − 𝑟
⎯⎯⎯⎯⎯

𝑠ஶ =
8

1 −
1
2
⎯⎯

⎯⎯⎯⎯⎯

𝑠ஶ =
8

1
2
⎯⎯
⎯⎯

𝑠ஶ = 16

What is the sum of the infinite sequence?

𝑡ଵ = 8

𝑟 =
16

8
⎯⎯⎯

𝑟 = 2

𝑟 =
32

16
⎯⎯⎯

𝑟 = 2

What is the sum of the infinite sequence?

−1 < 𝑟 < 1

−1 <
1

2
⎯⎯ < 1

∴ Convergent, has sum

∴ Divergent

∴ No sum

𝑟 =
𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯ 𝑟 =

𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯

𝑟 =
𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯𝑟 =

𝑡௡

𝑡௡ିଵ
⎯⎯⎯⎯

Sum of "𝑛" terms formula (infinite number of terms)𝑠ஶ =
𝑡ଵ

1 − 𝑟
⎯⎯⎯⎯⎯

8   ,    4 ,    2,    1,   
1

2
⎯⎯,   

1

4
⎯⎯                  ____ ____ ____                   

𝑡ଵ 𝑡ଶ 𝑡ଷ

____
𝑡଺

×
1

2
⎯⎯

____
𝑡ସ

____
𝑡ହ

×
1

2
⎯⎯

, …      

8   ,    16 , 32,  64, 128,  256                  ____ ____ ____                   
𝑡ଵ 𝑡ଶ 𝑡ଷ

____
𝑡଺

× 2

____
𝑡ସ

____
𝑡ହ

× 2

, …      

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 8 + 4 + 2 + 1 +
1

2
⎯⎯+

1

4
⎯⎯+

1

8
⎯⎯+

1

16
⎯⎯⎯= 15.9375 ≈ 16

𝑟 > 1

𝑠ஶ =  ?

𝑠ஶ =  ?

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 8 + 16 + 64 + 128 + 256 + 512 + 1024 + 2048 + ⋯ = ∞
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